
 INDEXFIND
 

 
 
 

1982-1987 G FRAME 
 

1. 7.010 MEMBER , FRT SI & CR (LONG).................................................................................... 14034875 
2. 4.083 RETAINER , TRANS SUPPORT...................................................................................... 375726 
3. 4.081 INSULATOR , TRANS SUPPORT ................................................................................... 459092 
4. 7.003 FRAME , COMPLETE...................................................................................................... 14103516 
5. 4.081 SUPPORT , TRANS......................................................................................................... 14063887 
6. 8.900 BOLT , HEX (M10-1.5 X 27) 9.8 PH(FLG)(AR) ................................................................ 11503428 
7. 8.917 NUT , HEX LK (M12 X 1.75 GRD 10) ............................................................................... 11500756 
8. 7.039 BRACE , FRAME-LH (307) .............................................................................................. 472170 
9. 8.929 WASHER , FLT (M12.2 X 24 X 3.38) ............................................................................... 363440 

10. 8.900 BOLT , HEX (M12-1.75 X 30)........................................................................................... 11508133 
11. 8.977 BOLT , HEX TAP (M10-1.5 X 30) FULL THD, STL .......................................................... 11509171 
12. 7.039 BRACE , FRAME-RH (307).............................................................................................. 472170 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

7-4 


